
Bet Asetis a collection ofdistinct,
⑤

unordered items called elements.

ex D =50, 1, 2, 3, ..., 93 has 10 elements
-

bits =30,13 has 2 elements
BOOK =True, False3 has 2 elements

&
=

integers has infiniteelements2 ... ,
- 2, - 1,0,1,2....3

⑰ I rationals
1R = reals
g = Sa,e,i,0,2,y3 has 6 elfs
2 =

2a,b,c ..., x,yz3 has 26 elts

Det Two sets A and B are eual
(A=B) iff A and Bcontain exactly the
same elements.

- 20,13 =51,03 =1)size2ex

Dewe write XCS (X45) iffxis
ins (notin S).

e Of bits 26 bits + AZ
Det The inalityor size of a sets-

Idevoted by 15 isthenumber ofdistinct
elements of 5.

ex (bits) =2 (< 1 =26

①Can we have a sets such thatIS
~ =02

yes!



DetThe emset(53 or %) istheset
withno elements.

101 =0.

&is 303 =0?No!
120/3) =1

F =30,303,3203331F1 =3
Iis a boxwith 3 elements

#

⑭
①If A =Bdoes (Al =1B1?Yes.

claim if 1A) =(B) thenA =B is false.
-

Disproof by counterexample.
(21,2,331 =5/34,5,631:3

Pet setbuilder notation defines a set

S =Ex:a rule aboutX3

5 is the setthatcontains elements x s.t.
the rule is true.



# evens =Ex:xt 1 and xeven
2x =x =2c for (t]
2xt]:x is even 3

bits =Ext 2:0 =x = 13

Det Ais a subsetofB (denoted ALB)
I every elementofAis also in B.
we can also say thatBisa supersetof
A.(B>A)

#evens = 1 I Q IR

1KQ
TGIRbut
**π

bits [ 2x:xt2 and 0 =X =93

20,53790,13

NoteIs for any isre


